PN
up=l
oo
System

Products

EXHA

Industrial

RERA

Manual
Stage

[EIL

Rotation

AR
(I=#)
Swivel
(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY
XeXY

BEZAT—> / 77—

ZA10A-32F01

@ ZA10A-32F01
100
90

e

8-M4 Depth 8mm

100

J

ZA16A-32F01

AR o
\\}9\ i @Q

7 o

CCW Limit Sensor

Depth 5mm 6

ZA16A-W2CO01

($5H8 Depth 5mm

30,

CW Limit Sensor

Home Position

Cw

=m|
Back Side

714X 100X 100, 160%x 160

Motorized Vertical Linear Stages / Table Size 100X 100, 160x 160

ccw

N
130+15

@ ZA16A-32F01

[EIL

Rotation

ZAR)L
(T=#)
Swivel
(Tilt)
734
XUk
27—
XYe

B
AF=
Vacuum
Stage

HIHEE
Control
Electron-
ics

==
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

7.5

[ 90 [N\ 4for M4 screws
Shaft length 7.5mm

(247)

4) 160

(83)

160

&

nd

A llinil
L

8-M5 Depth 12mm

fon

l cow

@ ZA16A-W2C01
[ ®4£E Build to Order|

175+25

]

(42) ‘

]
ing] o
i)

[1140

7\4—for M5 screws

(318)

160

(158)

140
110

CCW Limit Sensor

(17.2)

%
I

Home Position
— CW Limit Sensor

LN

Shaft length 9mm

(177.2)
0

8-M5 Depth 10mm

8-M4 Depth 8mm

Ccw

—_—
+

T

i

&
1 cow

140

o
\4-for M5 screws

Shaft length 6mm

CCW Limit Sensor
Home Position
CW Limit Sensor

=@

|  Back Side

in

%

Depth 6mm/

¢6H8
Depth 6mm

»6H8 Depth 6mm

55

=M|
Back Side

1-014 ‘ CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



TV [ E779 Ma=F54 b, 9RAR=F84 N | T4=L&4=bb =N, THE [ F=h3Y

Aluminum Body / Tetrahedral Flat-Roller Guide, Cross-Roller Guide/ Worm & Worm Wheel, Wedge / Ball Screw

B
Rkl N ZA10A-32F01 ZA16A-32F01 ZA16A-W2CO1
BFEOERK
Mirror Model Number ZA10A-32FO1-R ZA16A-W2C01-R
Z=2 | 100mmx100mm 160mm>x160mm
Table Size
ES0 Pk ME7Zyha—ZH1 K BEI/OAO—FH1 K
Guide Mechanism Tetrahedral Flat-Roller Guide Cross-Roller Guide
B
Motion Range £15mm +25mm +8mm
EYAR 1/40-74— L& I#— LKA —Ib, R—=ILxZ, U—K 4.0mm 1/4- 79 E. R—=ILx, J—K1.0mm

Lead Mechanism

1/40-Worm & Worm Wheel, Ball Screw, Lead 4.0mm

1/4-Wedge, Ball Screw, Lead 1.0mm

TIW/IN=T AFTVT

DR %1 Full/Half Step

0.1um/0.05um 0.2um/0.1um

0.5um/0.25um

Resolution ~

NYAYARTYT (1/20%%))
Micro Step (1/20 div)

0.005um 0.01um

0.025um

RERE

Maximum Speed

0.5mm/sec 1mm/sec

2.5mm/sec

BRUNIBRODIEE
Repeatability

=40.2um (AVE. 0.05um) =+0.3um (AVE. £0.04um)

=40.2um (AVE. =0.09um)

OANE—3>

=2um(AVE. 0.59um) =1um(AVE. 0.28um)

=0.5um (AVE. 0.16um)

Lost Motion
EEHE =8um/30mm =8um/50mm =10um/16mm
Verticality (AVE. 2.52um/30mm) (AVE. 3.08um/50mm) (AVE. 2.45 um/16mm)
KM=
Load Capacity (Horizontal) 294N (30kgf) 490N (50kgf) 196N (20kgf)
ME TILZE
Material Aluminum Alloy
S8 Btk RELET Btk
Finish Clear-Matt Anodizing Matt Black Clear-Matt Anodizing
BHE
Weight 4.3ks 14.5kg 7.2kg

S5IEATYEVJE—5—
5 Phase Stepper Motor

PK525HPMB (F T &I E—E—: EH
it 0.75A/#, BEAXZ 7V 7 0.36°, U—
R#REA)

PK525HPMB(Oriental Motor: Phase Current
0.75A, Basic Step Angle 0.36°, 5-Leads)

8 0.72°, U—R#R5%)

0.72°, 5-Leads)

CO90P-90156P (4 T 2N E—4—UHEMMX: EREF 0.75A/1 BARF Y7

CO90P-9015P (Oriental Motor (KOHZU exclusive): Phase Current 0.75A, Basic Step Angle

E—&—#E d5mm A7 3> N\URIL: A type
Motor Shaft Diameter ®d5mm Conformance option handle: A type
mE e #1208 (EO+: RP13A-12RA-20PC)
Connector 20Pin Round (Hirose: RP13A-12RA-20PC)
AF—IRGEAT |,
Stage Wiring Type = V3
RRER RREROERIC. B/ (F—2L) TP EFBALTOET  CWRIERES.
Returning direction Returning direction is determined with zone sensor. CW side’s light is intercepted in all time.
Y ERRK

Sensor Model

F-101(HOME,LIMIT)

) —=20") ZEHREE

Clean Room Lubricant Model Number LA OE

ZA16A-32F01-C ZA16A-W2C01-C

HZ2JYAHREN

Vacuum Lubricant Model Number Lz

ZA16A-32F01-V ZA16A-W2C01-V

AT—=VOREBEFIN—T AT YT TI>THEVET.
Stage is inspected by half step setting.

F=N—FR—VBICHBRBRRBEENELA. FHRICOVWTIIEN—UEBEBL

T,

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information.

o IV =200 ZERROBRIEKEIC “-C" P& ET ., F#MICDVTIZC-005~X
—2aBRLTLESL. ZA1BA-W2C01 DY) ATHRIC DWW TIFBBLEDE
7L,

Clean room lubricant model has “-C” at the end of model number. Page C-005 for
further information. Please contact us about lubricant change of ZA16A-W2CO01.

HZe ) ) AHROBRIEKREIC -V PREET, FMICDOWTIEC-005X—T %S
BLTLEEW, ZA1BA-W2CO1DJ ) AT DV TR BRVEDETE(.
Vacuum lubricant model has “-V” at the end of model number. Page C-005 for
further information. Please contact us about lubricant change of ZA16A-W2CO01.
o E—Z—HEOFEMICDONTIEC-004X—=T A BB L TTFEL, ZA16A-W2C01D
EF— ROV TRBEBVEDELZE,
Page C-004 for further information about motor change.Contact us about motor
change of ZA16A-W2CO1.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

AT — IAERDFMIC DV TIEN-026~N-027 BB L TFEL,
Refer to page N-026~N-027 for stage wiring connection information.

WETHE—F—3Y hO—F « KT/ /NTDNTIEN-002X—TZBB L TFELN,
Refer to page N-002 for information on corresponding motor controller and driver.
T BE—R—T—T DV TIEN-014~N-015R=U% BB L TTFE0N.
Refer to page N-014~N-015 for information on corresponding motor cable.

o BEHROZELICKLVRROBEEA Y ET, #LIERBETHEHVEDETZL,
We appreciate the product customizing. Contact us for further information.

o 7Y VICDNWTIEO-001X=2ZBB L TTEL,
Refer to page 0-001 for information on accessory.
F72 32N\ RINEO-008R—2 BB LTTE0,
Refer to page 0-008 for information on Option Handle.

o 2HATYEYTE—R—HREERVET.

2 phase stepper motor is available.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

AT I
K@

System
Products

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

BEE
25—

Motorized
Stage
X-XY
XeXY

[Elk

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
RSA/\
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

1-015



